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Ao 1 839R 10-30 008 &I, 1-30 3SR | [ Time : 10-30 A.M. to 1-30 P.M.
3 BINY Hoss; 1 40 +40+40=120 | [ Total No. of Questions : 40 + 40 + 40 = 120
Mo ©osn$y : 40 + 40 + 40 = 120 | [ Max. Marks : 40 + 40 + 40 = 120

85 K/E — [3330% é)zs% ~/SOCIAL SCIENCE

el Qenen Tew3nsy / Instructions to the Students :
1. D363 TTYT TIR,000 LOINT Spe0wed F0a5, 0T, Ty FTRTOD WOTIF T
BOeY Y AF TN LTCA0.
Write your eleven digit Register Number on the Question Booklet as

allotted in the admission ticket in the space provided at the top right
corner of this front page.

2. @%@@60&3& 8053%93 BT TROT BRTT (R)G@e) BRBRNT. TOCG
T,00e30r0m A0, AW BITBRTOD  wWOWD  TWIF[IY TZOR,
B3 RRATODY, DR, LN B30 20T TOLGRERS.
This Question Booklet has been sealed by reverse jacket. You have to cut
on the right side to open the. Question Booklet at the time of

commencement of the examination. Check whether all the pages of the
Question Booklet are intact.

3. QARVCDZTO OMR 3’9)&553& @3:5 BN QeTTONIR)TO.
OMR Sheet will be provided subject-wise separately.

4. B8 @%@@éoﬁw TURTO BRET* @ﬁoﬁoﬁ%ﬁ&z{ mo@zj%, T8 RV @égeﬁmd
BB, BRODT.

This set of Question Booklets consists of three core subjects and each
subject has separate Question Booklet.
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85-K/E ( RF/RR/PF/PR/NSR/NSPR )

5.

B8 QRDF 40 BINIR, B BIWHIOIO 1k, 120 TF IR, FR0RT.
() rieds - B Hoas, 1 003 40

(i) DPS - BIRY Fosy, 41 00T 80
(i) =FRE PN - TJ NS Boas, 81 00T 120
g Y S

40 questions are provided against each subject. This set of Question
Booklets contains 120 questions in all.

(i) Mathematics — Question Numbers 1 to 40

(i) Science — Question Numbers 41 to 80

(iii) Social Science — Question Numbers 81 to 120

Byde BFNR WO BOBATW), DR, BINYNR YVBOROFPYDD @I TN T ¢
TO03NT emgdi% 20T @06&355%, 3mw55 emgdﬁé oInRm)Te ajamées 90BN
QUORDY,

Each question carries one mark. Answering all the questions is
compulsory and each correct answer will be awarded one mark. There will
be no negative marking for wrong answers.

TOeF BB/HODY,

eD) @%ﬁ@ﬁg{mﬁd@ﬁo&aod 2.00.

W) 2.00.850°. ( OMR ) RBTY, HE B3Foadnt I0 TROTT LZTHTY
NOTOETLD QCTSONTIE SDASH Kgﬁﬁﬁ# efé% ROCIRT LVZTT 20T %gw:%
QeD/TF) TP RS TIOWOEF T WNT, GVTOIRENR FOFREIF N
Jew' [RW. W) YUTTIIY, Jew@ TRRT [0ed WHTCWRLD BT[FTNY,
0B C3RRTe @571325 713633371%332{ 20.290.630°. ( OMR ) R0¢&3 SRELIDTTO.
VPTOR  ByF "o, 1 208 LUETT ©0d) Fods C BNTY, L..20.8T .
(OMR ) RRBY, ©03) C 0 e/ T ToCD G’ TR0 T
VTO3RENR B3 BS 20eDTOS 3,3, BOTPREDF N Jes® WL
T3 Foad : 20) @ © O (9B NSTHR =NE))

=%
O O @ O
2)  2.0.650°. ( OMR ) TS0, WITROR)T, BOOIOR)E WF BT W
] %)
RNTLIVTTO.
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During the examination,

a) Read the questions carefully.

b) Completely darken / shade the relevant circle against Question
Number in the OMR Sheet using blue / black ball point pen. Do not

try to alter the entry and not to do any stray marks on OMR Sheet.

Example : In the question booklet, if C is the correct answer for

Question No. 20, then in the OMR Sheet shade the option C using

blue / black ball point pen as follows.

Question No. 20) @ @ @ ( This is an example only )
O O @ O

c) Do not fold, tear, wrinkle or staple on the OMR Sheet.

WOT T3 N 203808 ), BINGTY 3T VRBTY_ 0T YVBTNFTY, S0
£} S W 9> =l Q™ - ES )

TOMEIR BOTNTIY, VEBLRMOPIL;

If more than one circle is shaded for a given question, such answer is

treated as wrong and no marks will be given.

%.20.60°. ( OMR ) RPuTY ANOE ZFTY, D, HF ToNe B3R [0ed25TTID

3@—-353@ D& TTLIEBD.

Student and Room Invigilator should sign in the OMR Sheet in the space

provided.
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10. TOegp WHR B|ONT TOTT QTEIITO GWFORT %.00.8T°. ( OMR )3 3RATR
B¢ 5TTON STWTIE LTI,

Candidate should return the subject-wise answered OMR Sheet to the

Room Invigilator before leaving the examination hall.

11. 35, 50D HR), B3 WRATODY, eRTIT 5259, 5o030F T T 030¢ BRBWIT0.

Rough work can be done in the space provided at the end of the Question

Booklet.

12. TOegp BRBRAILYN TLOTEWT, [RY T TS, TEFF W WTY VI
QAT DT LVTFTENTTY, FOPTI), JFHQIINT.

Calculators, Mobiles, Smart Watches and any other electronic equipment

are not allowed inside the examination hall.
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81.
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HxoB | REIVW W
Subject : SOCIAL SCIENCE

B2 T,30300T0 TINVR T OTPOF TeFNYR T, SodNERy JeETINT.
YLD TOCRT LT[, 0 QTN ACBINTOT 2..00.83T¢. ( OMR ) VIT
T, BN D W TF) ToCKOD WRSF TloE* B0 FOWRT 000
Jeoe® SRR 40 x 1 =40

Four choices are given for each of the following questions / incomplete
statements. Choose the correct answer and shade the correct option in the

OMR Answer Sheet given to you with a black / blue ball point pen.

40 x 1 =40
msemwgowmm@?% 03208 eL0DJ* mesmdcﬁ cxgsdﬁom TOREITLRN.
ODFOTT 9T

(A)  ©0TITILOD 339, FTT BWRNAFNY 3eoq,

(B) ©TROTIE ROTRNF TN

(C) TRERO® T, TIWHI

(D)  030TRELODT'T FOTIRONY DFT [aRW

Constantinople was considered as ‘The Gate of European Trade’ because it
was

(A) the centre for International Trade routes
(B) the only sea route
(C) the capital of Roman Empire

(D) the only source of resources of Europeans
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82.

83.

84.

BRTOT SoriR, =TT CINTRTIY, ZAINAYAT w0
(A) WA & wTos (B) AR 2.TOT

(C) ©OTNIT® wTOT (D) OTRCT® RS el

The First Anglo-Maratha War ended with the treaty of
(A) Bassein (B) Salbai

(C) Allahabad (D) Lahore
SONT FoOTY, STOPNRROT ToNOCs méoifwojam?e

(A) QTR BT (B) FOW 00 LT00®

(C) Snres wmows® (D) RROODT® WHWT*

The civil courts established during the British period were known as
(A) Diwani Adalats (B) Fouzdari Adalats

(C) Lok Adalats (D) Shariyat Adalats

DT SONRE-TYFRTO CNTT FFCNTY, W, WRT DT TNFAT €03
(A) Hpederieennd Fwo' vdad Zeeed

(B) HeTL SonRe-mOTIT ITTY Fed, TN FReOAT)

(C) WOTTTL FHo0ODT AT, wd@\%ﬁ Ro TIT)

(D) T IR’ ,eTOMEe3 £, wsm%é@o@w%

The British gained confidence during Second Anglo-Mysore War due to
(A) Haider Ali’s defeat at Porto Nova

(B) defeat of Peshwa in First Anglo-Maratha War

(C) Marathas signed Subsidiary Alliance

(D) Cornwallis captured Srirangapatna
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86.
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ESTOVT  LPTST xmﬁgﬁ@ﬁ TOTITNYY  ReTNYE, QTORTI), 90B03R0OT

TO3R[0T 565@8053563

(A)  ‘FeTNONR TOTY’ Q0T FRRCARTIT

(B) RT,BF ¥,593 PIT WINWT

(C) 7ipe-Tgre FOFTI), STOYATIT

(D) :?53@@ ¢ 23%305@9053@{ %39, CORATITO

Dayanand Saraswati realised that the remedies to the maladies of India
are present in Veda so he

(A) declared ‘Back to Vedas’

(B) wrote Sathyartha Prakasha

(C) started Cow Protection Movement

(D) started Shuddhi Movement

QRNYE_ L0Te0D &, F0 AB0Z,, AOTS, =T NTOIN 20T ToTED
(A)  ©TO TeTOT, 08 TTRD

(B) awd Bom053ed8 mortodenE)

(C) %) T TODTITY BRoQTIY,

(D) 563 03603 TowTd ), LRON LTVF TR, nTINTTO
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87.

88.

One of the causes for the failure of First War of Indian Independence

among the following, is

(A) it spread all over the country
(B) it was a well organised revolt
(C) it had no eminent leader

(D) many Indian kings were disloyal to British

27908030 T O ToON AT &, Te3d 553, BT
& ~

‘ém
(A) BUR A, W (B) ROTEOT,TOF L, JRE
(C) TRTERIOW ITTReL (D) ﬁmm@%ﬁw eSS

The First President of the Indian National Congress was
(A) W. C. Bannerjee (B) Surendranath Banerjee

(C) Dadabhai Naoroji (D) Gopal Krishna Gokhale

B3 FYNTHTEY_ BTN MO0XT Fe0TRTO
(A) ©STNOT RO (B) r{raemosaa’?g eSS

(C) 2PONOMRT SUT (D) Qo0 VWIS T3

The one who belongs to moderates among the following is
(A) Aurobindo Ghosh (B) Gopal Krishna Gokhale

(C) Bal Gangadhar Tilak (D) Lala Lajpat Rai
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90.

85-K/E ( RF/RR/PF/PR/NSR/NSPR )
aplelalg~leveinievR i lewnlelson zﬁ%foa@oda?;g{ @do&p%d%
(A) S wﬁmdd@t Bowdzen
(B) =& zﬁ%?mdds% Wowdzen
(C) Bse3e0 LIPMOTTRY, LIowIRLD

(D) e3¢ R LS FoFFTRY, LIOWIRLD

Gandhiji launched Champaran movement to support
(A) Indigo growers (B) Cotton growers

(C) Tadi growers (D) Tea Estate workers

Be0T, ToT TINRT® BR) F LTI WIOTRY, W) R ATHF TE, &0QTINTL T2TED
(A)  ROCHT TIGANINT BT, TIOTRTY, WowITLO

(B) 23053003 AT, M, BT, TOHELICIT/ITY, Bowdzen

(C) R,RT é)daw@ ESRT/TOT ST

(D) QTS RTBONTI), WTHOTED

Rabindranath Tagore returned his title ‘Knighthood’ back to British
Government because to

(A) support the Jallianwala Bagh massacre

(B) support Gandhiji in Champaran Satyagraha

(C) express his non-co-operation against British

(D) boycott of foreign goods
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91.

92.

93.

RTBT LV WO,
(A) RTFT® BQIIOcL Tedeer (B) Se292 RyoTxe30T, WA
(C) 2WoONOMOGT S0F° (D) 2TLTOT®EL® Q:DOZSGC%GS

The ‘Iron Man of India’ is

(A) Sardar Vallabhbhai Patel (B) Netaji Subhash Chandra Bose

(C) Bal Gangadhar Tilak (D) Babasaheb Ambedkar

WRTBT OGS 30N 20T,
(A) 26¢ BBR VT 1950 (B) 26¢ &=’ 1950

(C) 158¢ &ni=’ 1950 (D) 263 wJI=O 1950

The Constitution of India was adopted on
(A) 26th October, 1950 (B) 26th August, 1950

(C) 15th August, 1950 (D) 26th January, 1950

ERETICINT FTIOL HVT3e3
(A)  TO0W, 0B 00 (B) P03ReEES BB

(C) 39,3383 BT (D) %30T ciciovelo)

The objective of establishing Lokayukta institution is to check
(A) Communalism (B) Terrorism

(C) Regionalism (D) Corruption
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95.
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TOWSEL TININ Blo TIBTI,
(A) T RO e (B) T &) GIRT’

(C) %OTE &) WeT (D) T &) ,e00%0

The Panchsheel principles were signed between
(A) India and Nepal (B) India and Bhutan

(C) India and China (D) India and Sri Lanka

IRTTR) T, T IS R0N m@&f%cﬁ B9 OB LV §TwOTNEL

(4) WeETR BB Y, T T YOS FTOETD

(B) Rew0 022 DWODTNT 3D 0B YV FwOFNED

(C) 23,8 =03Y tdeBTe LY WoBY VIS FMPOFNED

(D) TRIFO =T BOMOFFYT FYE [T YOI §wOBNRL

The Iron and Steel Industries established by India with the help of Russia
are

(A) Bokaro and Bhilai Iron and Steel Industries

(B) Salem and Vijayanagar Iron and Steel Industries

(C) Bhadravathi and Bokaro Iron and Steel Industries

(D) Rourkela and Durgapur Iron and Steel Industries
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96.

97.

LITITI NTIETOOMN QeS0T doerid BTN

(A) @025663666 9T NTIETON Ve

(B) RToFT° DEICOT TICTO0N ed

(C) SHTRTET TIETOON Jed

(D) OTTY MOOREIOIBT DTeTo0n Jed

The Foreign Policy of India is also called as

(A) Foreign Policy of Ambedkar

(B) Foreign Policy of Sardar Patel

(C) Foreign Policy of Nehru

(D) Foreign Policy of Mahatma Gandhi

@50555 IO

(A) AT, 7Y

(C) RS

The World’s Parliament is

(A) General Assembly

(C) Secretariat

(D)

(B)

(D)

33,30 oo

ORIV FIB) BHFT 0T

Security Council

Social and Economic Council
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DBTOR DOW VTR, T, TR
< Q@ L iy

(A) F°.8. CRASF (B) RedF® 5 OFF
S ed S

(C) QO LR BWFe* (D) WWOTT R IITR

The word ‘United Nations’ was proposed by
(A) F.D. Roosevelt (B) Joseph Stalin

(C) Winston Churchill (D) Jawaharlal Nehru

@R 3,8 ST 52030 00RY 1976TY, &SNS, WHHBBARONN 0N STLRTE
(A)  ,TFE TENE FoTFED @ofoa

B) ©3 33 FEN FoTFED T03,

(C) ©TTIT ZEWNT ToTZF TI03,

(D) ToNOeE TINT HOTFFwD LRIeve]

Untouchability Crime Act was implemented in 1976 with necessary
changes as

(A) Consumer Rights Protection Act

(B) Untouchability Right Protection Act

(C) Criminal Rights Protection Act

(D) Civil Rights Protection Act
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100. ©T0PET TIQOFBT &K, OTED

101.

102.

A) =OF (B)

(C) TEod ey (D)

)

emciraasm 33930

ANQB I3

The main feature of unorganised sector labour is

(A) migration (B)

(C) leave facility (D)

TROFTI WVRRC SBOTRCOTT To0TT
(A)  BoegomoLot (B)

(C) geT¥ % BOBT* (D)

Narmada Bachao Andolana was led by

(A) Medha Patkar (B)
(C) Kerala Shastra Parishad (D)
TOLIT TR WOTT

(A) TRTIMODT (B)
(C) @w—@&%ﬁé (D)

Invisible hunger refers to
(A) hungriness (B)

(C) malnutrition (D)

job security

fixed wages

TOOTITETDET LOTIMOED

8.3 SOmocsmﬁé)a

Sundarlal Bahuguna

D. M. Nanjundaswamy

WESS

3,033008%

poverty

richness
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104.

105.

85-K/E ( RF/RR/PF/PR/NSR/NSPR )

WOTO BROCING f&éfg{ows DI
(A)  &IRG, (B)
(C) R2x0OT* (D)

The Greater Himalayas are also called as

(A) Himadri (B)

(C) Siwaliks (D)

P wéswzj ©8 HTTT 30T
(A)  ©EEG, (B)

(C) =0F 30T (D)

The highest peak of the Eastern Ghat is
(A) Annamalai (B)

(C) Arma Konda (D)

WOTBTY, 3,08 HeoT SON
(A) JSowT* (B)
(C) IR0 (D)
The coldest month in India is

(A) November (B)

(C) January (D)

[SSoveptslog

e,

Himachal

Doons

€923, 350

£9OT® BOLITE

Amrapali

Amarkantak

BR0WT¢

December

February
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106. &) 02 TR, Be33903 HROLIZAWT I3 TROVT. DFOTIT T
(A)  LERTIT FLANVOT ZRRT
(B) 3 usgadgd
(C) %0 ¥ Ve B, TWeBNYEY F0ROWTTT

(D) ﬁww@ wodﬁ%ﬁv@t WHNROBT

The black soil is highly retentive because it is
(A) extremely compact (B) black in colour

(C) found in heavy rainfall areas (D) pebbled rock particles
107. T oTZE @& VN SO

(A) oD B) 3%

(C) nReTIRO (D) 2oonyT,

The longest river in South India is
(A) Kaveri (B) Krishna

(C) Godavari (D) Tungabhadra
108. &3 @d?@zsm’@fﬁm WSod0m  DOTNE  FROWNRPOT  STOTOR  WPLONGD  =oTNen

BOCONTOZT

(A) TBFS TR

(B) masom_a)as e:adsa?_S

(C) VTHBONT VZBOTEE BT

(D) SRR T7,FF

16 of 24



85-K/E ( RF/RR/PF/PR/NSR/NSPR )

The tree trunk supported by a number of stilt like roots is found in the
(A) Mountain forest (B) Mangrove forest

(C) Tropical evergreen forest (D) Desert vegetation

109. RTT FBND QAR B SO FedeS 03pews
(A)  &TOBT* (B) 9%, IoneF

(C) 0T TONT* (D)  JoMO%IFS BONT®

The important multipurpose river valley project of Odisha is
(A) Hirakud (B) Bhakra Nangal

(C) Pampa Sagar (D) Nagarjuna Sagar
110. O0BTE TNoFmes 3030y TRWOCIRMOET. 0DF0TT

(A) TTFTT Qe B0 BSRBRONPT 200300 S LTNAT

(B) 337 RITO 0092, B 030D, T3, TORATIT

(C) TMerxms WeRmohTE WPtz SVZ; qﬁ@ﬁ 3erB0Y.

(D) RITO FACDT, 3T

Shifting cultivation in India is declining nowadays because

(A) of the governmental policies and tribal settlements

(B) people have now started coming out with commercial farming
(C) there is no demand for the products of shifting cultivation

(D) people are abandoning agriculture
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111.

112.

239023 20T IRT
(A)  IOONERTId (B) 200%,
(©) éfa@g (D) PoNTRTO

The ‘Silicon Valley of India’ is

(A)

(€)

Mangaluru (B) Mumbai

Kolkata (D) Bengaluru

RN, PRTOTNY TOFERD WMLV 2,08 3,30:5083T

(A)

(B)

(€)

(D)

Q03008 £9 RRETBNFR) DAF AT
FOORY T, TeSNES), T ﬁsém@@ojasg{ QFOHROR)T
BOIBYO0NT, 08 By 7iR,w° BT T[R BT DTRRITT3

9}

SOBBRFOT)N SPBRTI LRANTIY QRCROWT

One of the preventive measures for the earthquake’s effects among the

following is

(A)

(B)

(€)

(D)

constructing retention wall
restrict sand mining in coastal areas
developing mangrove forests along the coast

restriction on digging of deep wells for underground water
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113. 2,0T0 desm‘;; WOTL TRETY, em@wcﬁomrbw DY ATB TOB) BeRING

114.

115.

VT THOD 2tdd TRV, Se
(A) SO STOD (B) ;% Toye0% ST30030
(C) 2eeTIROL, (D) i?fa%f%w oD mmayé

The total value of all goods and services produced in a country during one

year is
(A) Per capita income (B) Real national income
(C) Standard of living (D) Purchasing power parity

Mo,30 FTO%,; TOTOR DeRTT/ID
(A) HWOITLOS® IZTD (B) 2WoONOMOGT ST

(C) RTFD® BYLIOW Te3e* (D) =0TTY MoK

Gram Swarajya was the concept of
(A) Jawaharlal Nehru (B) Bal Gangadhar Tilak

(C) Sardar Vallabhbhai Patel (D) Mahatma Gandhi
TR0 STTBRTTRY, 2ot RWTF085,000T LINATIN TRTBOFTIE

(A) soYRO (B) 0

(C) 3 STOD (D)  23ea3T0L,

When the National Income is divided by the total population it is
(A) Underdevelopment (B) Development

(C) Per capita income (D) Standard of living
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116. 7 Sea079330 FTI00 Q00T TRTIRT w030 Fo0IT
(A) ROOTT SR WITONOED (B) 9. 433000 ToT03
(C) ez TRIT (D) .. TTOS
Establishment of Kaiga Nuclear Power Plant was opposed under the
leadership of
(A) Sundarlal Bahuguna (B) Dr. Shivaram Karanth

(C) Medha Patkar (D) B. V. Karanth

117. 8 IRE BT 1530 03, M9, BT DSVIYN I0FMIST. DFOTT 0T
(A) T T . TIQ 112,THFT TFTY, WRTLOTI
(B) Q0T}0T* M9, TFT TEFDI, FUOERAB
C & &xom; 030 M, BFT BEONTTY SRRCARRB
(D) T,3F SFEDDR), 9, CORITDCIE
15th March is observed every year as ‘World Consumers Day’ because
(A) John F. Kennedy accepted the Consumer rights on this day
(B) England declared the Consumer rights on this day

(C) UN declared Consumer rights on 15th March

(D) Consumer Education was started on this day
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120.
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IRTBTY, 112,38 FOTFED T903) 03T, 220N S0T3 SBHRE

(A) 1966 (B) 1976
(C) 1986 (D) 1996
The Consumer Protection Act was passed in India in the year
(A) 1966 (B) 1976

(C) 1986 (D) 1996

o3 oBONG 239 0%°
(A) [T (B) @da: 239, 05°

Q) Gxa%-waesoae (D) 20.8.2.0.

The Banker’s Bank is
(A) NABARD (B) Apex Bank

(C) Reserve Bank (D) IDBI

T3 éw% NeD

(A) 2362 g (B) 00
C) T (D) éfaegg
The ‘Gateway of India’ is

(A) Chennai (B) Mumbai

(C) Delhi (D) Kolkata
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(3, monrEN)
( SPACE FOR ROUGH WORK )
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(3, monrEN)
( SPACE FOR ROUGH WORK )
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